ponsibility for the conversion of this standard to
ncorrect results or damages resulting from its use.

No warranty of any kind is made by TxDOT for any purpose whatsoever.

,}'he use of this stendard is governed by the "Texas Engineering Practice

Act”.
other formats or for i

TxDOT assumes no res

DISCLAIMER:

d48hplq: fusr/d482517

Lv=1,2 for English 1,3 for Metric

ACC:

LEVELS DISPLAYED
112[3]415[6[7[8]efoi112{3{4]5]6

71819 po1R2p3p4apsbeb7RaRol3ol3132
B3[3435363758pok0[414243nakskeh7ka

%950/51 52634556566 7b8E68p061E253

ARM SIZE CONN ARM SIZE c CONN MC—2
eS| a s |c| o] £ |8 5, | ¥ 1A |®B D | E g S MATERIALS
in. in. in. 1in. |in. |in. in. in in. in. in. {in. [in. fin. [in. in. 3/8 MC—-2
55 | 479 112 e |5 e ; ] 70 | a79 | n | n |8 {8 |1 1/4(1 174 l" 38l Round Shafts or ASTM A595 GR A, ASTM A570 GR 50,
7:5 :179 13 g |10} 6 4 3 7.5 A79 1 11 8 8 1 o1/4(1 1/4 e Polygonal Shafts ASTM AB07 GR 50, ASTM A572 GR 50 or A36M50
50 | 179 1 |10 1 |7 |3 1741 1/a 80 | .79 n [ 11 |8 {8 |1 1/4[1 1/4 \7 3 m &)
90 | 179 |16 | 11 13| 8 |1 1/4|1 1/4 90 | 479 |13 | 13 |10 | 10 |1 1/4[1 1/4 /\\/8 ” Plates ASTM A36 OR A572 GR 50 or A595 ‘“or A36M50
9.5 179 17 112l1a | 9 |1 1/411 1/4 10.0 .179 13 113 |10 |10 |1 1/4[1 1/4 Connection Bolts ASTM A325 except where noted
9.5 239 18 |25 9 [V 1/4]1 1/4 . 9.5 .239 13 [ 13 [ 10 |10 : :;; 1 1;4 v Pin Bolts i ASTM A325 ]
00 | 23 [18 [ o |1 1/4]1 1/a ; 100 | 239 |14 )14 ] 11 1172 w27 ; - ; .
05 30 18 1 1315 | 1011 1217 /2 ' 1.0 239 12 | 14 |0 | 111723 172 ] % Pipe : ASTM A53 GR A or B, or A501!
1.0 239 18 1 13]15 1 101 1/2[1 1/2 .5 -239 114 [0 fu |1 /2] /2 ' ) Misc. Hard ) Galvanized steel or stainless steel
MC~1\, 3N T {s¢. hardware or as noted
» MCo1 N, 3/16 3/16" or 7 E Qé
3/16 or 79 4716 4 3 or /95716 x 3 _._I T
MC—1 174N i/a” MC-1 >—1/ﬂ%-e\ LU 38" 6 o B M Any of the materials listed for plates may be used where the
" " 4 3 ussets i i i i ion.
/4" o 39 7)6x 17 1/4 " gussets or 39 7/16x 1 | (tep & botiom) DETAH_ A drawings do not specify a particular Grade designation
4 " PR
’ - see Detail A (2) 1f A595 material is used, it need not be cold worked to A595
o . (Option #1) requirments, but material must have 40 ksi minimum vyield prior
o o o O Egg / - + DETAIL B to fabrication.
. 5 See "Detail B” - .
17 Opti 7/16 " 7/16
€ Conn. Bolts %% i (op 'Ortl 2% J— / -
(4 total with € Conn. Bolts € Arm —/ 3/8 " Gusset R sl 8 5/16 lange
1 flat & 1 (4 total with el o)
lock washer 1 flat & 1 lock /?’——V—<MC—2 2~
each) — washer each) ——< ] 5/16 s
- I —2 172" dio hol : d °l - " e——Clamp .
b1 ia hole - :
’ . } in plate = ~*//l/ I g
e ] < = .
< © S < © ' : o N Min. 85%
%\‘ | l ‘? Q- _”_L ‘ _/P > Penetration
. 4 ] - except
' \\‘\: ® i~ ; \,\\;_@2 1/2 * dia hole NES T ' T S
: C ~—"4" dia hole T 1 in pol o Arm ——=2 -
o . . . pole & plate .
in pole Arm ? - 7~ 7
|~ @Deburr holes and
€ Pole © Deburr holes and € Pole offset as shown
offset as shown for drainage FIXED MOUNT ARM CLAMP—ON ARM
for drainage
ARM BASE WELD DETAILS
FIXED MOUNT DETAIL 1 FIXED MOUNT DETAIL 2
. ARM SIZE ICONN. BOLTS [PIN BOLTS ARM SIZE ) ICONN. BOLTS |PIN BOLTS GENERAL NOTES
DARM SIZE A F CONN. BO'.'TS all BOL,TS D A F T - - ~ ) A F - - . Clamp—-on details are used for the second arm on dual mast arm
h * No. | Dia [ No.| Dia Dy * | No. | Dia |No. | Dia Dy ki : No. | Dia_|[No. | Dia assemblies. A Maximum 1 1/2 " wide vertical slotted hole may be
in. in. in. lin. |ea in. lea.[in. in. in. in. lin. |in. ea. [in. |ea. jin. in. in. in. [ in. ea. |in. |eq. |in. cut in the front clamp plate to facilitate drainage during
6.5 179 12 8 4 |x7/8 2 |5/8 7.0 179 12 8 3/4 4 3/4 | 2 | 5/8 6.5 179 12 8 4 1 2 | 5/8 galvanizing. The slot shall be centered behind the arm and shall
75 179 12 8 2 1 2 |5/8 75 179 14 8 3/4 4 3/4 | 2 | 5/8 75 179 14 8 + 1 2 5/8 be no fonger than the arm diameter minus 1
8.0 179 14 | 8 4 1 2 |5/8 8.0 179 14 8 |3/4) 4 | 3/4]|2 |5/8 8.0 179 141 8 4 1 2 1578 Fixed mount details are used for single mast arm assemblies
9.0 179 16 | 10 4 1 2 |5/8 9.0 79 16 {10 |7/8] 4 1 2 [ 5/8 9.0 179 16| 104 4 1 2 | 5/8 and for the first arm on dual mast arm assemblies.
95 | .179 18 |12 | 4 |1 _1/4| 3 |5/8 10.0 79118 |10 |7/81 4 1 [ 2 ]5/78 95 | 179 18 124 6 113 ]5/8 Where duplicat t detail, welds shown f
ere duplicate parts occur on ¢ detail, welds shown for one
9.5 .239 18 112 {. 4 {1 1/4| 3 |5/8 9.5 239 |18 10 1 6 1 3 | 5/8 g A 239 8 1216 113 1 5/8 part shall apply to all similar parts on the detail.
10.0 .239 18 | 12 4 1 1/4]| 3|5/8 10.0 238 18 10 1 6 1 3 5/8 10.0 239 18 12 6 1 3 5/8
*1" Dio connection bolts are permissible Pin bolts are required to prevent rotation of clamp-on arms
% Gap_ = 2T max. N under design wind forces.
MC-2 2 2 -
1 : MC~2 . t._ 1/2 " U=Strap, Grade 50
T
Dio as 1/2 " dia drainage hole Dia as = ! M- NOTE: -
required required # g 1/2 " dia 1/2 " dia drainage hole Pin bolts shall be A325 with threads excluded
1 1/2 " dia wire drainage hole from the shear plane. Pin bolt and 3/4 " dia pipe
N S AN y outlet hole . 3/16]/ N 1 1/2 " dia wi shall have 3/16 * dia holes for @ 1/8 " dia galvanized
\ \ 1 1/2 " dia wire N et hol 'a wire cotter pin. Back clamp plate shall be furnished with
_— 3/8 " P may #/ outlet hole outiet hole a 3/4 " dic hole for each pin bolt. An 11/16 " dia hole
€ Pin bolt J be bent for each pin bolt shall be field drilled through
pipe & hole instead € Pin bolt # € Pin bolt, the pole after arm orientations have been
of welded pipe & hole pipe & hole f approved by the Engineer.
3/4 " dia -
Pip/e 3/4 " dia m 3/4 7 dia
& Arm - Pipe : Pipe
3rd bolt Min. 85 % 3d bolt
where Penetration 3rd bolt Min. 85% rd bo
required MC—4 where Penetration wher.e g/ STANDARD PLANS
‘ required required Z/ TEXAS DEPARTMENT OF TRANSPORTATION

Connection Bolt with

[

N l ] MC~4 l Traffic Operations Division
N Q==
~_ | S 5 _ — STANDARD ASSEMBLY
IR | 0.? I Rl a Y FOR TRAFFIC SIGNAL
: ] § C—. 7 LLI RNl S0 - 0 SUPPORT STRUCTURES
. d g e @ MAST ARM CONNECTIONS

hex nut, 2 flat washers

—

& 2 lock washers Connection Bolt with

|
4D,
_h+_

3/8 " gusset R MA_C__96

Connectfon Bolt

Pin Bolt ‘J "¢ pole 1 _J S hex nut, 2 flat washers 'QT

& 2 lock washers > with hex nut, 2 FILE: MA-C.DON DN MS [cx: JSY Inw; MMF ]cx: JSY
Pin Bolt ¢ Pole ~ flat washers & ©TxDOT August 1995 DIST  [FED REG FEDERAL AID PROECT  ® | SHEET
Pin Bolt: 2 lock washers REVISIONS oALrs] 6 oW 97 (449) co
CLAMP—-ON DETAIL 1 CLAMP—ON DETAIL 2 CLAMP—ON DETAIL 3 5-9% cony cono[seot | o8 [y
DALLAS 8050 | 18 | 034 |BELT LNE

1_126A




